

Def.: - let $x, y \in \mathbb{Q}$

if $x - y$ is positive then $x > y$.

if $x - y$ is negative then $x < y$.

if $x, y \in \mathbb{Q}$ then $x = y$ or $x > y$ or $x < y$.

Example: - Show that $x^2 = 2$ has no solution for any $x \in \mathbb{Q}$.

proof: - let $y = \frac{a}{b} \in \mathbb{Q}$, $a, b \in \mathbb{Z}$, $b \neq 0$ s.t. $y^2 = 2$

and suppose that there is no common divisor of a, b

$$y^2 = 2 \Rightarrow \left(\frac{a}{b}\right)^2 = 2 \Rightarrow \frac{a^2}{b^2} = 2 \Rightarrow a^2 = 2b^2.$$

1. if $a, b \in \mathbb{Z}_o \Rightarrow a^2 \in \mathbb{Z}_o, b^2 \in \mathbb{Z}_o$ but $2b^2 \in \mathbb{Z}_e$

$\therefore \text{odd} = \text{even} \text{ C!}$

2. if $a \in \mathbb{Z}_o$ and $b \in \mathbb{Z}_e$, $a^2 \in \mathbb{Z}_o, b^2 \in \mathbb{Z}_e$

$2b^2 \in \mathbb{Z}_e \therefore \text{odd} = \text{even} \text{ C!}$

3. if $a \in \mathbb{Z}_e, b \in \mathbb{Z}_o, b^2 \in \mathbb{Z}_o$

$a = 2c, c \in \mathbb{Z}, \therefore a^2 = 4c^2$

$$a^2 = 2b^2 \Rightarrow 2b^2 = 4c^2 \Rightarrow b^2 = 2c^2$$

$\therefore \text{odd} = \text{even} \text{ C!}$

$\therefore y = \frac{a}{b}$ is not root of $y^2 = 2$

$\therefore x^2 = 2$ has no solution for any $x \in \mathbb{Q}$.

* To define the relation between $\mathbb{Z}$ and $\mathbb{Q}$.

Sol.:- let $f: \mathbb{Z} \rightarrow \mathbb{Q}$, $f(n) = [n, 1]$, $n \in \mathbb{Z}$.

$$\begin{aligned} \text{let } f(n_1) = f(n_2) &\Rightarrow [n_1, 1] = [n_2, 1] \\ &\Rightarrow (n_1, 1) R (n_2, 1) \\ &\Rightarrow n_1 \cdot 1 = n_2 \cdot 1 \Rightarrow n_1 = n_2. \end{aligned}$$

$\therefore f$ is injective.

$\therefore \text{ran } f \neq \mathbb{Q} \Rightarrow f$ is not surjective.

$\therefore f$ is not bijective.

Theorem:- ^{قوارز صيغة القسمة} Division Algorithm ^{أو}

If $a, b \in \mathbb{Z}^+$ such that $a > b$, then there exists.

unique integers q and r such that $a = bq + r$, $0 \leq r < b$.

^{برهان} Proof:- let $S = \{a - bn, n \in \mathbb{Z}, a - bn \geq 0\}$ ^{نصف $\frac{a}{b}$ أقل من}

$$S \neq \emptyset, S \subseteq \mathbb{Z}^+$$

If $0 \in S \Rightarrow a - bn = 0 \Rightarrow a = bn$. ^{أي أن a يقبل القسمة على b}

If $0 \notin S \Rightarrow a - bn > 0$ and let r be the smallest element in S .

s.t. $a - bq = r \Rightarrow a = bq + r$ now to prove $r < b$

$\Rightarrow$

The set of Real Number ($\mathbb{R}$):- (28)

let $F \neq \emptyset$ be a set and $(+, \cdot)$ be a binary operation defined on F . Then $(F, +, \cdot)$ is said to be a field if it satisfies the following:-

1. $(a+b)+c = a+(b+c)$.
2. $a+b = b+a$.
3. $\exists 0 \in F$ s.t. $a+0 = 0+a = a$.
4. $\forall a \in F, \exists -a \in F$ s.t. $a+(-a) = -a+a = 0$.
5. $(ab)c = a(bc)$.
6. $ab = ba$.
7. $\exists 1 \in F$ s.t. $a \cdot 1 = 1 \cdot a = a$.
8. $\forall a \in F, \exists a^{-1} \in F$ s.t. $aa^{-1} = a^{-1}a = 1$.
9. $(a+b)c = ac+bc$.
10. $1 \neq 0$.

Note:- $F^+ = \{x: x \geq 0\}$, $F^- = \{x: x < 0\}$

$$F = F^+ \cup F^- , F^+ \cap F^- = \emptyset$$



لا يلاحظ

The complex numbers: $\mathbb{C}$

Definition: let $\mathbb{C} = \{a+ib : a, b \in \mathbb{R}\} = \{a+ib, a, b \in \mathbb{R}, i^2 = -1\}$

let $z_1, z_2 \in \mathbb{C}$ s.t. $z_1 = (a_1, b_1)$, $z_2 = (a_2, b_2)$, then

$$z_1 + z_2 = (a_1, b_1) + (a_2, b_2) = (a_1 + a_2, b_1 + b_2)$$

$$z_1 z_2 = (a_1, b_1)(a_2, b_2) = (a_1 + b_1 i)(a_2 + b_2 i)$$

$$= (a_1 a_2 + i a_1 b_2 + i b_1 a_2 - b_1 b_2)$$

$$= (a_1 a_2 - b_1 b_2, a_1 b_2 + b_1 a_2)$$

properties of complex numbers:-

1. if $z_1 = (a_1, b_1)$, $z_2 = (a_2, b_2)$, then

$$z_1 = z_2 \iff a_1 = a_2, b_1 = b_2$$

2. if $z_1, z_2 \in \mathbb{C}$, then $z_1 + z_2 = z_2 + z_1$, $z_1 z_2 = z_2 z_1$.

3. let $z_1, z_2, z_3 \in \mathbb{C}$, then

$$(z_1 + z_2) + z_3 = z_1 + (z_2 + z_3).$$

$$(z_1 z_2) z_3 = z_1 (z_2 z_3).$$

4. $\exists 0 = (0, 0) \in \mathbb{C}$, s.t. $z + 0 = 0 + z = z$.

5. $\exists 1 = (1, 0) \in \mathbb{C}$, s.t. $(1, 0)z = z(1, 0) = z$.

6. $\forall z \in \mathbb{C}$, $\exists -z \in \mathbb{C}$, s.t. $z + (-z) = -z + z = 0$.

7. $\forall z \in \mathbb{C}$, $\exists z^{-1} \in \mathbb{C}$, s.t. $z z^{-1} = z^{-1} z = (1, 0)$

8. If $z_1, z_2, z_3 \in \mathbb{C}$, then

$$(z_1 + z_2)z_3 = z_1z_3 + z_2z_3.$$

9. If $z_1 + z_2 = z_2 + z_3 \Rightarrow z_1 = z_3.$

10. If $z_1z_2 = z_2z_3 \Rightarrow z_1 = z_3.$

11. If $z \in \mathbb{C}$, then $z = 0 \Leftrightarrow a = b = 0.$

12. Let $z \in \mathbb{C}$, $r \in \mathbb{R}$, then $rz = (ra, rb).$

Ex.: Find z^{-1}

Soln.: Let $z = (a, b)$, $a, b \in \mathbb{R}$, $z \in \mathbb{C}$

$$\begin{aligned} z^{-1} &= \frac{1}{z} = \frac{1}{(a, b)} = \frac{1}{a+ib} \times \frac{a-ib}{a-ib} \\ &= \frac{a-ib}{a^2+b^2} = \left(\frac{a}{a^2+b^2}, \frac{-b}{a^2+b^2} \right). \end{aligned}$$

Proof (7): $zz^{-1} = (1, 0)$, let $z = (a, b)$

$$\begin{aligned} zz^{-1} &= (a, b) \left(\frac{a}{a^2+b^2}, \frac{-b}{a^2+b^2} \right) = (a+ib) \left(\frac{a}{a^2+b^2} - \frac{ib}{a^2+b^2} \right) \\ &= \frac{a^2}{a^2+b^2} - \frac{iab}{a^2+b^2} + \frac{iab}{a^2+b^2} + \frac{b^2}{a^2+b^2} \\ &= \frac{a^2}{a^2+b^2} + \frac{b^2}{a^2+b^2} + i0 \\ &= \frac{a^2+b^2}{a^2+b^2} + i0 = 1 + i0 = (1, 0) = 1. \end{aligned}$$